2h-H
iz
=ER
R =
o -H
2haH
= h-F
=R
Bla-H
Pk -H
==EH
k-
Zh-H
Eh-H
=ER
==E
PR
bR
==L
Eh-H
ma-H
Ei3=5
Pz
B-H
=-B
==R
==
=b-H
Z-H
==E
ciaH
Eb-R
ch-H
eb-F
eha-F
ch-H
2-H
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3 Mswer all questions.

All grestions gary equal marks.
Cuatly one grswar 18 o be givan for each
poBetion.
IF more team ere snswems are mracked, & would
be troadad GBS WTOMD Amsver
Each question has faur alternative respohsas
marked serially as 1, 3, 3, 4. vou have to duarken
crly £ns circle or Bube ndicoting the commot
ardver an the Arswer Sheet using BLUE BaLL
POINT PEN.

. 143 part of the mark{s) of sach question will

be deductad for each Wrong answer.
(A WIOng Andwer means an ncormect sEaan
or e then are amswers for any quasfon
Leavinp w1 dhe fakvant doks of bubblas of
ANy crieslion BlAk w3l not ke corsidered 85
Wrorg arswer }

. The candidata shoud énsure lhul Series Code

of the Cheetion Pager Docklet and Answer
Zheet must he ssme aller opening tho
envefopes, In case they are differsnt, a
candidets muet sblain anothor quastion peper
of e same senes. Candidate himaell ehall be
responsitle for erswing his.

. Moble Phore or any cther slecimonic gadget

i e eacmination hall is strichy prohibiled. A
candidate found with any of such cbjectoneble
rmatanal with him'bar will ba shicty doalt s
pEr rules.

. Meass corecty Al your Rl Mumbsr i GME.

Shasl. & marks will b cteducted for Alng woonng
or incomaketa Rioll Mumbear,
I there iz any sort of ambiguibyfinistake eiher
m‘dpmu'ﬁ’lar fashoi nature then cut af Hindi
and En, Varehon of e quastion, the English
vierskon wil be boated &5 stRnbard
Wamning ¥ a condidate is found copy |
any Lnaithoraed mabedial rd
In hisfher possession, FILR. woud
be ledged agaltel Kimiher in the
Palies Station and hefshe weuld
liable to ke prosecuted under
Gacion 3 of the R.PE. (Prevention
ol Unfsirmeans) Act, 1863
Comriission may also debar hmd
her partanesntly from sl future
examnations of the Gornmisaion.
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1 If in a cerain language, GOOD is coded as HORIL, which word will be
coded DEFAM in the same Janguage 7

(1) FSFEN {2) ETHER
(3] ETHPQ {4) ESHOR

o GOOD ot fd wikfis wear F HORH Rren =i &, 31 52 Tiars 9T
# DREAM Fag wor fran wm ¢

{1y DSFBN (2) ETHER
(31 E{HPQ} (4) TSIDR

2 Tn an alarm clock, the alarm hand because of mochanical defect mowves
1 mimute fuster in every half howr If the alarm is set for 3 afternoon at
12 peon, then alarm will ring at ;

(1) 3.30 pm () 400 pm
(3) 430 pm 4y 5400 pm

wh B et wel ¥ gy O % s 5w gl olE amr g F 1 e
o et By 12 Aores oX 6E e 3 W & frg wmd g A
L L

{1}  3.30 pm W 2y 400 pm 9T

(31 430 pm 9T 1y 5.00 pim 9T

3 A bag contains 25 paisa, 50 paisa and 1 Re. coins. There are 220 coins in
all and the total amonnt in the bag is Bz, 160, If there are thrice as many
s | Re. coirs as there are 25 paisa coins, then what is the pumber of
50 paise coins 7

{1y 120 2y 80
(3 50 4y 40

e e ¥ 25 49, 50 4@ e 1 7. & T ¥ O A W Faenl =T Hem 220
¥ forerer 3w qeg 160 % ¥oafe 15, & et o S 25 T % T A
dien & Teph B A 50 ¥ ¥ fel B g e BT

{1y 120 (zy =0
(3) &0 4 40
26-R_A| 2 [Contd...



iI'it is possible to make a meaningful word with the second, the fourth, the
severth and the sighih letters of the ward CONTROVERSIAL, which of the
following will be the first letter of that word ? ¥ more than one soch weord
can be made, given M as the answer If no such word can be made, give
'X' a5 |he answor, then correct answer is ¢

(13 X 2 v
(37 M 4 T

o 9= CONTROVERSIAL & 50y, 9, A 7en ares @sl § o= oels
y== g o9e & oo e A F om e e e S ow B 7 uiE
= o W A e W Tad 9 oar 9o M 23 oft o = = W
aq HEE E A 9w K w9 el e ®

1y X v

3 M 4 T

A sum of Rs 671 is divided among A, B, € such that if there shares be
increased by Hs 3, Rs. 7 and Bs. 9 respectively. The resulting share shall
be in the ratioc 1 ¢ 2 = 3 then B's ghare i

(1} Rs 224 (2) Rs 12

(3} Rs 230.56 (4) Rs 223

671 %, @ ufit A, B, CF 70 v i § {5 oft 39% W o oy & s
3%, T® oW U5, W SN UL TR W G W 1 2 2 3 B
B W 97§

(Iy 224% @2 12%

(3] 230.66%. 4y 223 %

The hours hand and minytes hand of a8 clock are 4 cm and 6 cm long
respeedively. Then the ratio of distances travelied by ip of hours haod in 2
days and tip of minutes hand in 3 days is |

(1y 2:3 (2} 1:4

3y 1:z% 4y 1:27

T HEL W avE wwet T e e gear w weEnd s 4 @ mn o g
& 2 Bt o ok At g o Az ol v ot g 3 R F e T
gL @ AlE T U gl W e §

(1) 2:3 G2y 1z4

@3 1:9 (4) 1:27

26-R_A| 3 [Contd...




T Study the following bar eraply, then gnswer the question given below it
60
B

30
203

H

Stales— A B C D I F

Porcentaps ——
S BEE2E38 3
I [ | ] 1 1 |

Percentage of villapes which arc not clectrified

Which state has twice the percentege of villapes electrified in comparison

to state [ 7
(1} A -y N
3}y E 4 F

e = iy w1 avrE & iw e wiE w wer A

70 -

B+ 45

iy ——
==
=

a0 83
- 20

20
210

T R T R
Ti—s4id B O D K F

i = whm i P 9 b

Wi D & e e wrm & ol F R @ afym g R e
(1 A @ C
3y E 4 v

26-R_A} 4 [Conitd...



8  The melre service has a train giving from Mumbai o Pune zod  Pune 1o
Mumbai every howr. The first one at & am, The trip from one ity o other
takes 4.30 howrs and all traing travel at the same speed. How many trains
through a passenger will pass while going from Muombal to Putie 30 he starts

at 12 noon 7
(1 9 2y 13
3y 8 4 10

H¢l e o Uw W T O S 0 A § WA 6 am T H | UF T
B O BT W O WEET 4.30 e & E g ol 3w i o ged
¥ afy o w12 e el W g SE AR S b o) ow aed @ e
W Tl e

1y 9 @ 13

(3 8 (4) 10

% Three differert positions of the same dice have shown in the following
figures. Which of the colowr will be opposite to the red surfzce 7

{1} White (2} Brown

3} Yollow (43 Grecn

o Fost & o 1 o ot O T Tt Reed o ¥ wm o % Rrodia
wE-an b g e

{A) (B) {C)

{1} s {2y 1w
(1) T 4y wO
26-R._A] 5 [Coatd...




10 Study the following pie chart and answer the question given below it ;

Expenditure charl
A~ Paper
B — Advertisement
C - Binding
D — Primting
E — Royaly
F - Miscellanoous
Tow much percent more is spent on advertiscoent than that on binding 7
() zs T @
() 1o (4) 28

Tt o aerE w0 ererd & e B ows @ o 3

.
B -

C

D=
B -
F -
A e T o e whhee soen wed e ¥ 7

(1

{3)
26-R_A|

EouE
faswaT
R
EeEbl
e |
EEE

25 Zy 9

10 4y 28

[Contil...



11

12

13

14

[ Awgust, 2013, the FIBA Asia Clampionship for men was beld at -

{1} Hongkong {2} Beinat

(%) Manila (4} Ankara

gt & fa e i Sfwmfm o, 2013 § et g
(1} i () Fem o

3y A % (4) afwE o

Trat and P5+1 talks were held in Geneva in Qotober, 2013 In this '-1'
stands for :

(13} India 2y Germany

(3} Tarael {4} Eurppean Linion

AT, 2013 #F T A §39 e PS+1 & el g ged v d anr k-
(1y -« (2) S

(3) g 4 T

Indias first film to be awarded the best Blm in Cannes Film Festival in
1948 is -

(1) Dastak (2} Do Besgha Famesn

(31 Mescha Nager (4 Craram Hawa

wE e ww, 1946 W wdies R & w9 % omed Wmw @7 TE
fipmm &

(1) =S 2p = dmy i

{3y = e # Y

Consider the following statements

(i) The Man Bovker Prize, 2013 has been won by Eleanor Callon,
{iil} She belongs ko Australia,

{ili) It has been contirrsd on her book The Luminaries'

{iv) She has the youngest Literature to have won it.

Tdentify the comeet statement's using the codes given helow -
(1) €y and {ity only {2} ) and (i) only

{3y i), (D) and (iv) onoly {4y ) (i) and (iv) onoly
Fr=ifea mael o T wif

(i) 2003 & W gmT WEE TEER weT O S E)

(i} =% SRR B #)

(iij) & FH [EE T gheris R R o

(iv) =% 6T T W T g afesr ¥

Frenifies g=f =1 w w5 g W FORiEuet = ghm

{1} ¥ () (iii) (2) S (0w i)

(3} AW (), () 9 (4) T (i, (i) wE (i)

26-R_A] 7 [Contd...




14

17

How meny sessions of 13" Rajasthan Legislative Assembly took place ?

(o 2 M 1
3 13 {4 14
13 et faum o & o S ow oA Y
{1}y @ () 11
(3} 13 (4 14

Warendra Dabhiolkar was the Editor of a8 renowned Marathi Weekhy, called :
(13 Satvashodhak (2} Maslik

(%)  Andh Shraddha Nirmoolan  (4)  Sadhana

wia oileE UF Wig WS s F dues &, Rrow am B

(1) wasigs 2) s

{3y sl P (4) T

Match the following lists

List = X List - ¥

{A) NS Chakra o {1y Submarine, parially sank
om 148 Aggrast, 2013

{B} IMS Aridhaman (i) Akula class Nuclear
Subsnaring on lease fom Russia

() TNS Arihant (iii) Lndta's second - to - be indigenonsty
built: Muclear Submmarine

(D} IMNS Sindhurakshak {ov) India's First indigenously built

Muclear submarine
Code :
(1) (A=), (B, (C-(v), (0=}
(23 (a)-Gi), (BRCv), (C3-GR) (D-(1)
(3) (A, (G, (Civ), (D)
(4} (AN-(iit), (B)-(1), (O, (-(iv)

Frifen gitml W gafie @i
X - Y
fA) HTE U U AW () 4 OFFE, 2013 W @9 9
g
(B) &% o1 gw i (i) @ F TF WA T agw A H
A Tmed
€y =3 o oy AfEd (iiiy o o g A A s
TR g
D) =g Wi oE RgiEs (iv) WTd @ TEl Eee- T
UEEE

=

(1) (ARG, B, (CHiv) (D0
@ (A, ®iv), (OHi), D)
() (AKG), BHGi), (CHv). DM
@ (A){iD), (BI-G), (G, D))

26-R_A] 8 [Contd...
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20

On 237 Qutober, 2013 when Prime Minister Manmohan Singh was visiting
China, Prime Ministers of {wo other coumtries also began thefr visit to China;
these bwo countries are

(1% Jepan and Russia

(2}  Vietnam and Auostralia
{3} PBussin and Mangolia
(4} Vietnam and Tndonesia

23 AT, 2013 W waAEs aEe fw A e e A, A e gl
& w9 oo S e A daw ¥

(1) A oF =4

(2) Rrremm wd aiEREn
(3 =4 uF dm

(4 Frmam o= SERTE

President of the International Obpmpie Consmilles i -

{1} Jacgques Roppe ¢Z2) Thomas Bach
{3} Richard Camison 4y Julian Samyranch
FaroE it aftfy = s -

(1) wrew @) T T

(1) Trad Wiww {4y TR W

The Mational Highway, which counects Hyderabad 1o Banglum is

(1) N.H. 44 (@) N.H. 47
(3) N, H,27 (4) . H.34
Yo A AE ) shed e W T -

{1} ™. TE. 44 2y T, U=, 47
(3} wwE 27 4) . TE. 34

26-R_A 9 [Congd...
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ryd

23

The CGrandmaster from Bhilwara, who won the Commonwealth Chess
Championship in July 2003 in South Afica is .

(1) Abhijeet Gupta (2) (. Akash
(3) Hahaj Grover {4 Rakesh Kulkarm

afiqm anfrar # HEE, 2013 F s soie St et aw dwa
% s At ¥

(1) AT T {2} = wEmn

{3) wew HET (4) TGRS g

Consider the following statements -

{iy Virat Kohli scored fasvest ODU century by an Indian at JTaipur on
16" October, 2013

{ii) He seorcd century in 50 halls.

{iii} He broke the record of Virender Selvwag, who scored century in
G0 balls.

{iv) Kohli is the 10U fastest century scorer in ODIS in the world.

indentify the comect statements using the codes miven below :

(1) (i), (i} and (i) only (2) (i) and (i) only

(33 (1) and (v) only () (i) and (ivy ouly

frmitiee el oy Tt @i ¢

() 16 amEgEy, 2013 @ wage ¥ Froz el 9 oF b En s A
s faadi smrrEE s

(i) FEA S0 el O gigw W

(iil) e 60 W& A swe w1 9w wEEm @GS aE

(iv) el um-ferde slaodia Sl & g e o SN AT gRT
10 ¥ swiEm ¥

Frerifen g2t w1 wam W g9 we wae W g

() e (i), (i) T i) (2) T (i) i)

@ () () o) (i) e (iv)

Head of the povernment of which country cancelled his'her official visit to
TUmited States of America i October, 2013 as a protest against s elestronic
surveillance under Prism Program

(17 Yeneela 2y  Germany

(3} Spain {4) Brazil

Tom 3w T s & T g % efeie el eTew e &
Prtueen arrzat, 2013 ¥ sgg T s H aTeRT RS BT T T
fem ?

{1} =i (2) Al

(3} ¥ (4y e

26-R_A] 10 [Contd...



24 Match the following lists

Tist -X List = ¥
(Dronacharya Awardee (Related spori)
Coach of Year 2013)

(A) Poomima Mahta {i) Hnckey

(3}  Mahaveer Singh (i)  Athletics

{C)} K. P Thomas (i} Archery

(I Raj Singh (v Wresthng

(v Boxing
Code ;
(1) (AR, (B}v), (CHG), (0)-(iv)
(23 (AH), (B)-(v), {CH-(v) D))
(3 (A, (B, (C)-(iv), (D-=(ii)
@y (ARG BY-(v), (C)-(id), M)
Pyl afeedt = GG 0

T -X qi - Y
{5 2613 % T (st S
TR il wia)
(8) gt == O
(B) e Riw (i) e
[y W (i) AHEET
() e fdg (iv) TR
(v) i

=T ]

(1 Ca(i), (B)-(v), (O, (D)-(iv)
(2} (AN} (BHiv), (O, (D))
(31 (AR(v) (B, (Ch(iv), (D)-)
(4 (AR, (B, (R, (D))

25 The deepest Railway twonel inpugurated by Prime Minister R T, Erdggan
recently in Tutkey 1% called -

(1) Gotthard Rail Tunnsl {2} Channcl Tunnel

(3) DBolmen Water Tunnel {4} Marmmary Tunncl

TR A, 2 v e weE & 2 o g e ol o weh = g
wmoam o

(1) TeR T g (2) &m g

(3) A 91 g (4) W gl

26-R_A] 1 [Contd...
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27

15

9

3

Tor how many years, the Telegram Service in Tndia operated, before it was
closed forever on July 147, 2003 7

(Ly 156 years (2) 160 wvears

{3 163 years (4) 168 years

14 T, 2013 F ThE % Wy N w0t ¥ g T W ¥ 9ra F e of
wH a7

(1) 1563 (2) e =d

(3 163 (4) 168 T

Wha has been awarded Bal Sabityy Puraskar of 2013 in Rajasthani language
by Sahilyn Akademi MNew Delhi 7

{1} Aaidan Singh Bhkah (2) Aml Kanak

{3} Diinesh Panchal (4} Vimla Bhandari

Wik amE, T Tl g AT e A 2013 W e wile g
fordt war S wn BT

(1y omsEm fig wmd (2) wgE =T

3y W&y g (4) fam@r o=rd

India'’s Mars Orhiter Mission on 5% November, 2073 was launched by the
Rocket -

(1) BSLV - C21 (2) PSLY - (25

{3 GSLV -1 ) GILV -1

§ WEAT, 2013 @1 WE w1 e e few T e wale Be o 7
(1} fTomua @ d 2 (2) MA@ s

(3} = o e A - 1 (4) ¥ oF T A -

Among the following, which Hindi Novel has been written by
Rapendia Yadav ?

{1} Haara Aakash {2} Andhere Band Kamare
(3 Raag Darban {1y Aadha Gaon

Pretfisar % & F-w0 T Teee Ay wr G oy 89

{13 H|I T (2) Hft 9= T

3y T AT 4y oM e

Among the following, which Assemrbly Constituency of Rajasthan is
nombered as 1 by Election Commission of India 7

{11 Ajmer (Morth) {2)  Manoharbana

(3) Sadulshahar (4} Bansur

W W B A e w PaET A weE § et ae e s
17k ¢

{1} @mAT (g {2y  FEARTET
(3} WIEETET (4) =L

26-R_A] 12 [Contd...



H  DBlue tooth technology i uwsed in -
{13 Land line phome to mobile phone communication:
{2}  Wircless communication batween equipments.
{3} Signal transmission on mobile phones enly,
(4]  Satellite television commumication.
Y 2 aEA® wge wh §
(1) #e=amT B # 9EET WA 9 wE iy
() wE F W AU R A
(3) e e W e S weron B
{4} weoRz TS dur ig

F2  Which countty was the first to launch arificial sabellile 7

(13 LUSA {Z} Russia

(3} Chira () Germany
S T WO %Y RN wey Yy @ oo ¢
(1} gHgu, {2y =a

() = 4y wEE

33 MASA's first mission capable of linding Euarth size and smaller planets
around other stars is -

(1 Wessler 2y Hubble
{3y Casgini (4)  Kepler

“1en w wEE e fiyE, fred Em ovell w e vE s o & oAl
HT SR WY WEl Wt @ B W §el, 9% 5 -

(1) Fgwe 2y 7
3y i (%) T
26-R_A] 13 [Contd...
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35

17

Which one of the following, is the Tndia's First indegenous siveraft carvier ?

(1) TNS Wirat 2) NS Vishal

(3) NS Viram {4) TNS Vikrant
Tty § ® e @, wE o Tite v wEel wnEw R ¥ 7
{1y emdaom, Bue (2) emgaE, e

(3) emETAEE. (4) WENATE,

Which of the following are battle tanks 7
(1) Adun and T-72

(2] Arun and AN-3Z

(3} Maharaia and T-72

{4y Maharaja snd AN-32

fraffiam & o9 & ga 2= § 7
(N eefw g T-72

{2y amET T AN-32

(3) WEREn ¥ T-72

4) "ERET 9 AN-32

MNanotechnology iz related to

{1} Afomic engineeting (2} Carbon engineering
(3} Wicrobiology (4} Dicrophysics
e (AR FaeeEn) TEra b -

(1) AW (i) st ¥ (2) e sl
(3y eeiEfET {4y g i @

26-R_A] 14 [Coutd...



¥ Consider the (oliowing statements :
{{}  Manotechnology is based on nanometre scale.
{il) Manomaterials may be characterized by electron microscopy.
(i} Plasma synthesiz is the physical technique for synthosis of nanomaterials.
Which of the above statementfs isfare true 7
(1} @) oniy {2} (i) only
(3 (1) and (i) {4} (i) and (i)
Frefifig e o7 Paw $f6E -
iy wE T (ARETEED Ty e o e a9 T
(ii) #AfrgE v FEEERE) @ fafirem e geEd B o

I W Gwal &1

{li st wE (Fidfem) & de # 4 s W et
b |

T § W aH-er ® e Aw 2 ¥ ¢

(1) @=E (i) (2} FEE (i)

(3} ) F 60 @ (0 = G

38 Consider the following statemenis

(iy  Vitamins are a class of nutrients (het cunnot be biosynthesized by
the human body except vitamins A and Do

(1) Vitamins E and K are water soluble
ity Vitamins B and C are fat soluble.
Which of the above statement/s tg/ are true 7

{1y (i} only (2) (i) only
(33 (i) and (i} () (i) and (i)
TratatEn wa v fram S

(i) Toufem sl = oow o =t &, P o arite e She-dvee
T oW oawm B, M| A 9 D owrogiEs

i) T K 9 K ww 4 gewiw oae
iy fafr B 7 € = ® geiw B ¥
TITEE FAET R W BE-E W e we R 7
(1y &= () 2) H (i)
(3 09 4 (i) 9 (i)

26-R_A] 15 [Contdl...
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39

40

Watch List-I with List-T0 and select the correct answer wang the oodes
given below the lists :

Fisi-1 List-NT
{A) Dhobic iteh (i} Wirus
{B} Malana (i} PBactcrna
(C)  Prenmonia {ill} Protomoa
(D} Mumps (iv) Fungi
(v} Warms
Code :

(1) (a)tivy, B (C)-Gi), (D)-(si)

() Ay (BHGE), ()0, (DH)

(3) (&G, (B}, (C)-(v), (DR

(@) (AGi), (B (C)-Gv), (D)) .

wii-1 & TH-1 & gila ffd e gl & 9 B g2 W awin
Fd BT TEH BT W 999 e

-1 -1
(&) adr 7m (T
(B) = Gy i
(Cy ~geFEm (i) i
() g (iv) =%
(v} W

F =

(13 (A=), (B)(v), {C)-(it), {D)-(i)
{2y (A){Iv), (B, (C)-(i), (D-(1)
(33 (A)-GE), (D) (C)-(v), (D)
41 CAYGiE), (B)-(v), (CY-Givy, (D))

Assertion {A) - Coal based thermal power stations conlgibute to acid rain,

Beasen (R) :  Oxides of carbon are emilled when coal bums.

Select the corect enswer using the codes given below -

Code

{1} Noth (A) and (R} are correct and {R) is the correst explanation of (A).

{7} Both{A) and (1) are correct bue () is not the correet coplanation al {A).

(3} (A} s true, but {R) is [alse.

4y (A is false, but (R} is true

wAT (A) ¢ wren amfte el w0 W omei W odg
7 %l

®O (R) © TF W@ W A wEe & seeye 9T e #1

i T g T S g W Wt e e

= :

(1) =aw (A) ot (R) 7 W80 § 597 (R), (A} =1 Wb wetaeo £

@) ®EW (A) T (R) T adt & Resg (R), (A) w0 W welme R

(3) #F¥F (A) TH ¥, 991 (R) WA ¥

4} WA (A) sme &, wm (R) 99§

26-R_A] 16 [Contd...
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42

43

Which of the following atmospheric geses arc responsible for green housc
cffect 2

(i) Cabon digxide (i} Methane

{irl) Onoygen () Mitrogen

Select the correct answer using the codes piven below -

(L (i) and (i) (X (i) and (i)

(3 () and (i) (4) (i} and (iv)

fefiE o § - T W w1 owee i ewEed ¥ o6
(i} THEA T {iy e

(iif) et (b)) T

A B oW g W oIl s BN WE w999 Aty
(1 G = () 2y i) o (i)

(3) ) 7 () (4) () T (iv)

Assertion {A) : lessci resistent transgenic cotton has been produced by
mserting Bt gane

Feasom (R) :  The Bi gene is dertved lrom insects.

Select the comrect answer using the codes given below ;

Code :

(1} Both (A} and (B} are true and (R} is the comect explanation of [A).

(2) Both {A) and (R} are true but (R) is not the correat explanation of (A).

(3) (A) i true, and (R) iz falsc.

4y (A) is false, and (R) is true

BT {A) 1 wIE AR Zeethe wee, 419 (B S wehe sue
T B G

T ORY o AE (B e A A T

R oW o W o w9 g w S % owm wifeg e

ﬁﬂ i

(L ot (A) a0 S (R) SFE T80 F 991 (R, (A) %t ol arefimw &

(2) A (A) T T (R) A1 AR E T (R), (A) = wlt w8

(3) w9 (A) TH T, oW (R) smE

(%) HaH (A) eEw ¥, @ (R) A ¥

Biodiversity hotspots resulting from extremily depse human popolation
leading to destruclion of malursl hebitats are found in

(i) Bangladesh (i} China
(i} India {iv) Tndopesia

Select the correct answer from the codes given below -
() G and ) 2) () and Gv)

(33 ) (i) and {jii) (4) (i), (iii) and {iv)

weate T HITE SR Wi gl F frmsr % weewn s
w7 Tk waw w (AEERTEE AT W) T 9 ¥ o

(i) wiemds A (i) e #

(i) wWew A (iv) eEmfimr &

Y B oMW g ¥ wd oo W ww i

(1) ) (i) (2) () 74 (iv)

3) (), (f) FEn (i) (4) (i), (i) TEr (iv)

26-R_A] 17 [Contd...




45

46

47

48

World's first penetically modified dairy calf has been named as -

{13 Dolly (2) Jolly

{3) Lakes ) Hivers

favg = v agdRET e 2all @sdl w0 oA o ¥ -
{1 == (2)

(3] #= (CYRRECT:

"Boundup Ready™ - the frat crop engineered for glyphosphate resistance
containg modified genes for the enzyme -

{I} Enol pyruvic J-phosphate transferase

{2} Tnmel pyrovilshibimate 3-phosphate synthase

(3) Phospho ool pyruvate

(4} Phospho enol transferase

TIEHREE TR mas AR W (e a9 E F i W
L

1) ile WEEas 3-WEhe TThee UAEY & e

(3) I TEETEAERT 3-Trhe e TeET %

{3) EEEEAR THEdE wemeg 6 WY

{4) wEAe Tks oaEe F e

In which region of Rajasthan, Central Ard Fone Research Tnstitute s
conducting  project on  standardization, conservation and = propagation
techmigues of economically impeortant shnabs and hechs 7

{I} Dharalpur region {2y Jaisalmer reaion

{3} Kola region {4} Udaipur repion

T % e g ¥, B g e g de mr enflfe w8 ST
G0 U T & IR, S uE Hedw et w diE e om
™ ¥ 7

(1) wage &= (2) =owdT i

{3y @i A 4 TEyT 8

Which one of the following regions is the major centre for study on agn-
silvi-horti-system wader irrigation system in Rajasthen 7

(13  Alwar resion {2} Ajmer region

(31  Bhilwara region {4} Bikaner region

Prafifan 4 & < &9 vemm § e o § shsTsmm vl
AT T OWTE wE v 7

(1) sHET & (2 oy =

(31 HwEE & EVI e
Central Ressarch Enstitute of and hotticulture 18 located at
{1} Bikaner 2y Jodhpur

{3y Jaisalmer (4) MNapaur

s FETTH W e wg weE fam d -

(1) d@rR § (2) g &

(3y ey ¥ 4 e

26R_A] 18 [Contd...



4 Which one of the ilowiang statements is comect 7
(1} Central Blectro-Chemical Research Institute is located at Borkheda {Kota),
(2}  Central Sall Rescarch Instimte is located at Sambhar (Jaipur).
{3} Central Electronic Enpineering Research Institute ig Iocated at Pilani

(Jhunjhuna).

(#) Central Road Research Institute is located al Abu Road {Sirohi).
Frfafan & # B W e wwm % 7
(1) & gerag-wiem oty deF aReEe (wen § fas B
(1) | A S W wier (wag ° Rew ¥
(3) wdm T inPrfn sy dwe e @e § e b
{4}@?%%%%%@%@[}*%%

30 March Lise-F with List-H and select the cotrect snswer uzing the codes
given below the lfists

List-E List-IT

(Besearch Centres) ¢ Districts)
(A) Coriander {1y Ajmer
B} Horse {1i} Bharatpur
() Mustard (i) Bikaner
{D)  Sheep (v) Ko

{v} Tonk

Code :

(1) (A)G), (BH) (CHi)L (D))

@ (A, (A0, (C)-(ifi), (D)

(3) (A0, BRG)L (OH), D)

(43 (A, (BRG], (O} (D))

-1 = g1 A T R g el A R o g e
Hd B WE T w1 9 e

-1 (el &) -1 (Fo)
(&) wfEn iy ey
(B) = (iiy wTEgT
(€ = (iti) e
D) % (iv) @
(v) %
@ H

{1} (A, (Bl-v), (O, (D)-{iv)
2} (A (B0, (i), (D)-(iv)
(3 (AMG) (B, (C)-(iv), (D)-(v)
(@) (A0, (B)-Gail), (C)-), (D)

26-R_A] 19 [Contd.,,
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52

Two statements are given, foflowed by four conclusions. It is required Eo
find cut which of the conclusions logically follow from the given statements ?
Statcments
Al knowledge is good.
All knowledpe is difficult.
Conclusiony -
Some good things are difficull,
All difficult things are knowladpe.
All good things arc difficult,
Easy things are not knowledge.
(y 1 @ 2
(3 3 @ 4
7 wow e gu ¥ T =g Prerd ¥ e W ® 0 BB et g @R
ik Fead ¥ 2
WA L ' WA A R
B/ WA HE B

R A

Trreged -

1 =E e A i B

2w wiew 9 e E

3wl adl A e ¥

4w g we R

(1 (2) 2
3y 3 {4y 4

The age of Ena is twice as old as Seema. What is the difference i their ages 7
Statermnents

{a)  After five vears, the ratio of their agas would be 9 1 3,

(b} Belire len years, the ratio of their ggés was 3 ¢ 1.

Then which one is sufficient

(13 Only statemcn: {z) (2) Only siatement (b)

(3} Both (a) and (b} together {41 Mot both {2) and (b}

= s o A oo W T R weet e W o el BY

H :

(a) 5 Fd wyuR] T @0 F egAH 9 : 3 E |

() 10T 7 TIE A w w30 147

7 a7

(1} Fw wu (a) (2) = wE (b)

(3} FH (2) T (b) S0\ (4) T (a) T (b} d=1 & TE

26-R_A| 0 [Centd...
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54

M k=x—y+2z where =2<x <1, —-1Sy=<2 and 3< <5, then

(1) o=k=9 f2y S<k<n
(3) 25k<14 4) 2=k=4
X k=x-y+2z W 22xsl-lSy<2 W 32256, T
() osk=9 (2} s=k=11
(3} d=k=14 4) 2<kh<4

If Xer¥ means X is the wife of 1, 4 +¥ means Yistheson of Yand X OV

means X is the sister of ¥, Which of the followng would mean that 4 is the
daughter of B 7

(1) A*C0O DR () AsC*DOR
(1) AQCefr=R (4) AZC+DoB

aiE YoV & s X, Pl uel ¥ xey mEd X Faoqw Fow X OF @
af Y retama i P d S fomm el 4, BRI E B 27

{1y A=C[0DoR {2y AoC+*DTE
3y AdCoD+q ) AOC=ies

If 5% of x i3 added to x and the 5% of the result i3 substracted from the
rasult, then the value of x -

{1} Increases () Purreases
(31 Mo change (4y  Can't sey

aE x W ox w39 S U7 W o f F ofone w 5% SR s A
b

(1) =wen ¥ 2) Tk
(33 euftadim (4) I F3 AET

Which two months in 2 year have the same calendar 7

{1} June, October 2y Aprl, MNovember
{3y April, July i1y October, Decamber
T g9 % FA-H = A G Feel U 9 e B

(1) 77, smgaT (2) ariter, T

3y eim, (4) ey, Rt

26-R_A] 21 [Contd...




57  The 288" term of the series abb.c cooddddesceelEELEL....... is.

{1y v @) w
(3 x ) ¥
i abbocoddddeseeeffffEf. . 288 9 TR
(v @ w
(3) x 4y

S8 The minimun sumber of different colours that ¢an be Glled in the portions
of the figure wiven below where no two colours arc same i adjuiniog

portions 18 :
(1y 3 2 4
(3) 3 (4 6

i T R & W st W a9 e wen, ol S T
g # we o7 T B, R

(1) 3 @ 4

(3 5 4 o
26-R A] 22 [Conid...
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G0

The missing number in following fgure s

iy 9= 2y 1
(@1l @ 12
e o & ate e B

0 B 2 10
(3 1 4 12

The two digit number when divided by sum of the digits and product of the
digits respestively the remainder is same znd the differsnce of quotients fs
oné, then the mumber is -

i 14 (1) 23

3y 32 @y 41

o o AT e W ST Al & div mm T & wew: Peias w0l
STRW W b R WeeE @ alaT | ¥ od S § o

(1 14 2y 23

(3p 32 ) 41

26-R_Al 23 {Contd...
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62

64

The Mational Minarities Development and Finaace Corporation {NMDFC)
in Ledia wasg st up in

(1) 1994 @ 1990
(3) %N 4y 1993

T ¥ T AlvniETE T T R R (NMDEC) e i o
(1) 1994 % 2) 1990 ¥

(3 199) T (4) 1993 %

Rajiv Gandhi Scheme for Empowerment of adoluscent girls named
MRabia' inclodes Lhe girls of the age group !

{1} 9o 12 years (2) 10 to 15 years
3 1 fo 1B years My 15 to 18 years

st & Trard weim midl feeird aufmE g waar J Rewmt
H oy W ¥ o

(1) 9% 12 9m {Z) 10 % 15 5w

5 1 F 18w {4y 15 ¥ 1§ 9@

Aggertion (&) : There is a sharp fall In tax buoyancy m 2018-12.

Beasom (B} ©  During 2011-12, both direet and indirect tax revenues
grew at a very fasl rale.

Examine these twa statements and select the answer using the code given

below

{13 Both {A) and {R)} arc true and (R} is the correct explanetion of (A).

{2y Both {A) and (R} are true but (R} is not the cormeet explanation of {A)

£3)  {A) i froe, bat (R ia false

(4 (A) is false, but {R) is tue

W (A) af 2011-12 ¥ w1 weerssar § A Prome g5
HEM O(R) 0 =Y 2011-12 & dTF, IO U9 AwEe BT e R e
@fa & ghe g

= I el = FEaEgds i e qa Peaiier w2 w0 waim
&7 HE oL B T Hired -

{1} (A) ot (B i w8t ¥ mem (R, (A) ¥ wED =g T

2 (A) o (R 9 W F g R, O @ oW e ol ¥

(3} (A) @ ¥, g (R) oA ¥

{4} (A) aEe B 0wy (R) w3

Estimated percentage of persons below the poverty lTine in 20011-12 by
Tendulkar method using mixed reference period in India is :

(0 275 () 372

(3 219 (4) 324

WG 9 2011-12 % wgwee fatt % @ fifie wet amfl @ i s
T T T A S w7 aw a6l & et whee o
(13 275 2 372

(3 19 {9 324

26-R_A] 24 [Conid...



65  The Twellth Five Year Plan of [ndla mainly Focuses oo
(1} sccelerating industrial growth
{2} incressing rale of investment
(3} accelerating employment prowth
(1) faster, sustainable and more nchusive growth
W B "l deerdis gem @ e agEe ¥ o
(1) ofefife fema & ofy w9 &on
{2y TEs = = = 39 w5
(33 TwME ghE @ dW &
(4) R AW, mole Gm oweRsl weiE

66 In recent wears, composition of tax revenue collected by the Union
Government is showing that

{1} Ddrect tax procesds sre larger than indirest tax proceeds

(2} Ddrect tax proceeds are smaller than indircct tax proceeds

(3}  DirecL tax procesds are almost equal to indirect tax proceeds

(4] Dfrect tax procesds sre twice the size of indirect tax procesds
e & wdf ¥ sl woen @0 uwhte w e S T uRT ¥ R
(1) wad & witm o &0 Wil & afie )

{(2) woOw WY Wikl aweE W wheE d wH R

{3y uer w¢ ey wwem w7 TiaEl % wma srEr T

(4) wwmE WY WRaE] oWeEE & A A god@ %t

&7 What was the mosl wortisome resdlt of the population ¢ensug of 2011
in Rajasthan as compared to 2001 7

(1} Growth rate of population betweon 2000-2011 was high,

(2 Literacy rate in 2011 was still on the lower side.

(3} CGeneral sex-ralic m 2001 did not nerease nuch

(4} Sex ratio in the pge propp O-6 yours declived.

TR A 2011 W wern & ol F 2001 @ geer F wed s
Tywirs oo = @ ?

(1) 20012011 % 4/ sdeq 7 ghe =7 & ol

(2) 2000 ¥ g & oFw A w0

(3) e B swd 2011 ¥ s wd o arnd

@) 06T & oTg-wE W RT-aETE 22 T
25

26-R_A] [Contd...
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[

"

Which [ive year plan showed Wghest growlh rate in Rajasthan sc far,
on the hasis of NSDP at 2004-05 prices 7

{1} Seventh {2} Tenth
(3} Eleventh () Sixth

@ T T, S, 2004-05 # IRl B omE W OTHwE @ R
Tepadta dern & ondt 7 wtius gfE o oww o § 7

(1) = @ =Ed
(3) e £V}

What was the terget of [scal deficit as prescnbed under the Fissal
Besponsibility and Bodeet Management Act, 2005 ?

(1) 3% of GSDP {2y 315% of GSDP
(3) 4% of GSDP {4y =zero % of GEDP

TR S A e vaee sfufem, 2005 & s TEEeN
g Ff T o &1 weg w9 oo T 7

(1) oo T TN 9EE W 3 e
(7) THW T SiE AR ® 35 whee
(3) TEwW T o IR @ 4 uhw
(4) TES R UYE IO W $FY Wi

Rajasthan Agriculture Competitiveness Frojeet has been launched during
2012-13. This project is mainky emphamizing

(1)  Judicious wse of irvigation water
(2) Mechanisation

(3 Organic farming

(47  Balanccd wse of forfilizers

TwEE E Wil ohEE 9 2012413 F we # w) | ahEe
i e W R oww o

(1) fiifom = & pond g oy
{2) TGN

(3 Hfaw @l o

) wETH & dgiwe e w

26-R_A| 26 [Contd...
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T2

T3

Which ol 1he Lollowing fact/facts isfare correce 7

{a) Rajasthan has a rich mingral bese, making vup 22 percent of the
indlustrial mineral produstion af the Sountmy.

(b} Mining slone contributes about 5 percent of GDP of Rajasthar,

{c}  Western Rajasthan has substantial deposits of lighite.

(1} {2) and (b} are comect (23 {2} and {c) are corroot

{3) (b} and (c) are correct (4)  All of the above are correct

Frr ¥ W wm-m W e W R Y7

() TFETHTT W W SATET TET TUE B 40 2 & oiatfie wte e
WO FHE 22 uRine g

(b) TERET W GDP W SEw WA ® AR w5 AheE ¥

{c) T TERaw A firegz & e e R

(1) (&) ST (b) WE ¥ (2) (3} i (o) = F
(3} (b) T (o) T ¥ (4) IwE T ol
Which one of the following peirs i= not correctiy matched ¥
(1) Henthali lerigation Project Z Baran

(2)  Chakan Irmigation Project - Bondi

(3}  Bandi-Sendra Trrigation Project - Talore

(4)  Sukli rgation Project = Fali

P & % o Sier g ¥ 7

(1) Hweh T W ELis]

(2) wwga e oferen - A

(3) arer-fwm fed ofeden - weR

) e R oo - W

The Planning Commission has updaied recently the poverty estimates for
the year 2011-12. Acconding to these estimates what sre the percentages
of populaticn below the poverty line in Rajasthan +

(1) 25 percent {2) 20 percent
(3) 15 percent 4y 22 percent
WA A ¥ owW & F e amend W oA 2000-12 % R e
(update) fFm %1 55 egaet % aae ueens # oriell £ Y & AW

SE T AT A Seeen W WREE foC
(1} 25 wigywr (2) 20 afe
(31 15 wiey= (4) 22 whgw

26-R_A| 27 [Cuontel...
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75

Which agency is working as the nodel agency of the Government of
Rajasthan o facilitate investments in various sectors in the state ?

{13 Investment Promotion Board of Rajasthan

{21 The Buregu of Imvestment Promotion

€30  Industrial Tnvestment Board of Rajasthan

(4) RIICO

W e A A B & gRE mE S ¥ Y TeEn e
A drew wisd B oew A P oW oA sl den s w0 oW B 7
(1} T ow fafEm geEa 99

(2} = @ e yEee

(3) TmeErT W s b ad

4y

Match List-L with List-TT regarding growth targets of 121 five year plan
of Rajasthan for different sectors of the economy :

List - 1 List - 11
Sector Growth Target
(A} Apriculture ay 17
(B) Industry (it} 9.5
fC)  Services (i) 8.0
(DY Al eectors (iv) 35

Code :

(1) (ARG, (B, (CHG), ([D-Gv)

(2] (A)Gi), (F-(v), (CHD), (DI

() (AR, (B, (O, (D0

() (AR() (B)<iiiy, (Cl(iwd, (-G

TreTE B 1780 deEeTy g # oandermen  fufie i F G v
W oAE ghE = E owd § g 1A g 0 F we i S

-1 11
e FEm TfE T
(A} o @ 77
(B} == [y @5
(C) T {ii) 8.0
D) =l E= ) 3.5

(13 (A-tmy, (B, (O-0), (D)-(iv)
(2) (A, (B, (C-), (M-
(33 {A)Liv), (B)(iH), (C)-3), (D))
@ (A, ®-i), (C-v), D)

26-R_A| _ 28 [Conid...



76 Match the following
Irrigation Project Participatory State/Staies

(A} Chambal Project (i} Only Rajgsthan

(B} Mahi-Bojsj Sagar Project {ii) Rajasthan and MP

{C) Beas Project {iif) Rajesthan and Gujarat

@)  Sidhmukh Project {iv} Punjab, Haryana and Rajasthan
(v) Punjab and Rajasthan

Code :

(3 {AME, B, (CHiv), (D))

(23 (A, (B)-Giiy (C-v), ()-(id

(33 (AN, (Biid), (C)-Gi), {DM(v}

41 (A, (BHm), (Crivy DHD

T AR
Rt wfedam Ll

(A) wmm S (iy AW

(B) wly-vwra WP ufEE () TR T W w3

(C) = ahEre [ o B B R

(D) frege i (iv} TeE, RO T T

(v) WHM g IR

(0 (ARG, (B)-Gi), {Ch-(v), (0)-(1v)
(2} (AR, (B)GH). (CH), D))
(3)  (AR(iv), (Biill). (C)eGi), (D)

() (AR, B-Gi) (CHiv), D))
26-R_A] 9 |Contd...




77 Match List- with Eist-1T and sefect the correct answer using the codes
given below the lists ¢

List=1 List-I1
(A} Aprometer {iy Measurement of altitude
(B) Ammeter (i} Measurement of enging speed
() Amemometer (fii) Measurement of electric current
(I} Altimeter (iv) Mleasurenient of wind spoed

(v} Measurement of aivuss density’
weight

Code :

(1} (AR, (B)-), (C)-(v), ()-()
2} (A, (B)-0v), (CHiw), (D))
(3} (Ak(v), (ByGii), (C)-0v), (DO-(1)
(@) (AR (B)-Gv), (O, (D))

-1 & g1 # gt i qen qfedl & A TR W Rd @ T
T T H G @ wER wifed

-1 11
(A) T () FEE T
(B) et {iiy Furr wfiy AT
({C) TmERET (iiiy ferga sro AT
(1) SR (iv) T T AT

(v} =WAE EEET AT

ELEE
(1) (A, (B-(i), (C)-(v), (D)}

@) (A, (BRv), (), D))
B) (AN, (B, (O-Gv), (D))

(&) (A(v), (B)-(iv), (O, {D)-iiy
26-R_A] 30 (Coatd..



78 Assertion (A) ¢ On the fond side of an ambulance, the lellers are ususlly
written as ADMAIAMA .
Reasom (R) | Images formed in mirrors are laterally inverted,
Scleet the corrsct answer using the code given below
Cade
(1} Both{A) and (R} are correct and (R) is the comect explanation of (A),
(2} Both(A)and (R)are comrect but (R} is not the correct explanation of [ A},
(3) (A is true, but (R} is false.
4} (A) is false, but (B} is true
FET (A) Tl =TT T TTEOAT SIS O I0MA TIAMA
# wy § flew wer ¥
B (R) 0w F W AW wloee § wedE Swe s ¥
R o o W weem § wf o W e i
F H
(1) FEA (A) A (R) =97 =W E o (R), (A) B WE TEmOT §)
(2) ®E (A) AT (R) 4 7 F AET (R, (A) = owd wdmen 5d k)
() maT (A) A B, ey (R aEw b
() wET (A) oEE ¥, T (R} WA R

79 The domestic electric appliances, thess daya, have star ratings (upto 5 stars)
on them. The number of stars on them denotes that, more the number
of stare -

(1} longer the lite span of the appliance

{(iiy higher the energy elficiensy ol (he applhance.

(iii) better perlormance of the appliance.

Which of the above statement's 1s'are true 7

{1} ) only (2} (i} onoly

(3) (i) and (i} both 4y (i} and (i} both

i, P Iuswil ay simmme fer (5 e @%) oifew e o B 5w
TUET AT Gifte Ay e wen ¥ s fendd 2 v fee arfie @iy -
(i} 39 IuETn & auEm ey afts = %)

(i) J9 IUHW W HA T T=al g

(i) 79 wwww W =H T 4FOT ERE E

i A oA oW we oA B E 7

(1) &9 (i) (2) (i)
(3 (1) T (o) == (41 (b = i) =
B0 In a LAN network every system is identified by -
(1y T™ame (2] MAC Address
(3) 1 Address (4)  Seral Mumber grven by manuficlurer
LAN Fzaf ¥ weirs feg € wveam o B
(1} 9 = (2] MAC B =T
(3) 1P wEw & (4 Ffer aro & v & den @
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g2

84

Which Politicel Party considers that the present Indian State is the organ af the
class rule of the Bourgeoisic and |andlords led by the big Bourgeoisie 7

(13 Comoumst Pary of India

(2}  Comumunist Party of Indis {Marxist)

(3)  Communist Parly of India {Marxist-Leninisc)

(4]  Samajwadi Party

w-m i g e § fE adue wrEm T =3 et ot
F g F Tt o gl & o sms oo ¥

(1) wiE Wi i

(2) ¥OT @ wErne T (D)

() AT @ wgrne T (e )

(4 wWEERE T

Consiter e [nilowing statements

{i) The Comptroller and Auditor General is the Head of lndian Andit
apd Accounts Service,

(ii) Shashi Kant Sharma is the 1 ]ﬁ'lf‘.nm]'ltrullw und Auditor General of India.

Select the correct code |

{1} Only (i} is true. (2) Only i) is true,

{3} Both (i) and (i) arc troe. {4) Toth ({) and (i) are false.

Trifes Foat o8 FeEw i

() Friwm ue weea glms wdE wen ol oE T i & W
gfgn whn %1

(i} wfiemm ol swA & AwEs Poiwe ud e oiaw #

Wl FE W oW Wt o

(1) e (i) @ E (2) W (i) Wy B

(M G Gy 3 oFw E () () o (i 2 s

Identify the incorroet pair of middle Ger of Panchayati Raj Institutions and
the concerned sole :

(1) Kshelra Samditi -~ Uigar Pradesh

() Panchayat Unmon Council — Tanu] Madu

(3) Taluka Panchayat — Gujarat

(4) Panchayat Samiti - Madhya Pradesh

v T st & sl e v dEie e & gl g =) weeii
(1) &= 9y — Sur wen (2) vuEg ot SEhm e
(3) TEE TEmE - T (4) e Wi - AE W
Alter the enactment by Parlrament of India, the Date of commencemont
of 'Right to Information Act’ 8 !

(1) 15 June, 2005 (2) 22 June, 2005

(3) 2 October. 2005 {(4) 2 Otoober, 2005

THF F TEE 5 WMt 5 e 9w, e w5 i siye
W OEELL R ¢

(1} 13 91, 2005 = {2) 22 97, 2005 @

{3} 2 =ML, 2005 H (4) 12 S#FZEY, 2005 &
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86

Assertion [A) - After the Supreme Courl verdict in Maneka Gandhi Case,
1978 practically the doctring of 'Due process of Law' is
followed o India.

Reason (1) | According to Anicle 14 of the Constitution, State can not
ndulge in arbitrariness.

Seleet the cormoot codes

(1) Both (A} and (B} are true, and (18) is the correct explanation of {A)

(2} Both{A)and (R) are true, and (R) is not the correct explanation of (A).

{3y (A) iz true, but (R} is false

(4} (A) is false, but (R) iz true.

FAT (A} | 1978 & FET WA B ¥ I==0n OWmY 3 e & 9
W § e W W 9re e & foaim W
g e oo &

For (R} ;. EREW F Hoesa 14 % e TR el T8 6]
wwal ¥

e g w wET WL

{1} (A} 9T (R) 39 = %, w80 (R), (A} 9 W8 =mEn #)

{2} (A) T () 29T g9 £, U0 (R, (A) o W =TET TR 30

{3} (A) TT E 99g (R) smE ¥

(4} (A} 0 %, T0g (R) ¥ ¥

Amsertion (A) - 'Communalism fundamentally and above all is an Ideolomy”,
{Bipin Chandra)

Reason (R) | Communalism may Oourish without the occurrence of
cominanal  viclence.

Select |he comecl codes |

{1} Both (A) and (R) are true, and (R} is the correcl explanation of (&),
{2} DBoth{A)and (R) are true, and (R) is nod the correct explanation of {A).
{3y {A) s trug, but (R) iz false.

(4} (A) i false, but (R} 39 truc

T (A) - “HTETT T e e S wEr R ¥ (R =)
FEE (R fam wiwETes T & Zu N, SEREE T B S
it @ w U ®E

{1} (A) % (R) 4w ¥ w0 (R), (A} W wh D E

@2y (a) ol o) AT e ¥, ooeeg (R), (A & o wmEm T ¥
(3) (A) 9= %, wog (R) ow@ T

f4y (A) @mm B, we (R) 7R
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Congider the following regarding the power ol the Gowerodr Lo resenve

a bill passed by the legisiature for the reconsidemtion of the Presideot of

India

(A) I & is m the divect oppositinon o the Directive Principles of State
Policy.

(B) Tf the bill passed by the state lemslature 8 of grave oetional
imporiance.

(C) I it endangers the position of the High Court.

(13} If the bill deals with the compulsory agquisition of property under
Article 31 (3) of Indian Constitution.

Sclect the comoot anwwer by using code given below -

(1) {A) and (B) (Z) () snd (D}

(1) {A), (B} and (C) @ (A B), () and (1Y)

Forum wvmm @ e fidess & W F Tewl ¥ g0 iAW E

Tore prrmem B SRR TS @ MEd & AL W TrMREw BEE 9T

Frarr =ik -

(&) B T e Ak Pl gel ¥ owds wn & frew

{B) wE T Gremwrew @ o Rew o= o oW o

(C) uft 9% o= =mwm =0 foly =1 =W F T wn

(D) =i R a3 g F oes 31 (3) F Oe wale & aFed
witee # wRleE w9

B 0 wT W WErT W0 WE 9T W W @Ay -

{1 (A) &% (B) (2} (C) 3T (D)

() (A), () &l (©) (4) (A) (B), (C) it (D)

According to Constitution Amenadment (Minety one) Ace, 2004, what will
be maximum strength of Councll of dMinisters in the Srate ?

(1) 10% of total members of State Lepislative Assembly

(21 12% of total members of State Legislative Assembly

(3] 15% of olal members of State Legislafive Assembly

(4]  20% of total members of State Legislarive Assembly

RO weET (GEIE) ofatEE, 2004 ¥ oA oy whmftey &
sifermas wer @ @A i 7

(1) FgFEw & P wEE w10

(2) Pgrwa & 9 wEal w1 12%

(3) T F o T owm 15%

() FOFREE 6 3 awEl @ 20
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Consider the following abowt financial conunittees of Rejasthan Legistative
Assembly -

{A) There are three [nanciz! commitiess,

(B} Hach committee has fifleen members.

{C) The Chairmen of commitiess are appeinted by e Logislative
Agscmbly's Speaker,

(D) The committees submit their report to the L:gns!atn.u Assembly.
Select Uhe corroct answer by code given helow -

{1y (A} and (B) {2) (A). (B) and (C)

(33 (B), (C} and (D) (4} (A {B), {C) and (D}
wwee T e A7 fdl wfir F Pl o R i
(A} o feim witfal &

(B} w=w ©if § 15 oo o &

(Cy =Rl & wwmfy Rem o F eaega mo e Eoaw b
(D) il o wies Rram o & W wol B

RO OW g ow wEm we @ ge W 99 e

(1) (&) #T (B) ) (A), (B) 97 ()

(3) (B), () s (D) ) (A} @B), (C) & D)

Which of following is not recommended by the Second Administrative
Reforms Commission for fenctions of State Public Scrvice Commizsion 7

{1} Reocruitment of candidates for higher level posts under the state
Governmenl (Class T and Class 11 positions of warous state cadres),

(21 Advising govermment on transfers from one senice tooanother,
{3) Advising government on senior level promotions through the DRC

{43 Recruitment and promolions to teaching posts in government colleges
and [ully fmnded units of the universities.

Frefefes & & #- el mabe gur om a0 9 A A

W & wiEt % oAt o gwe Ter i omam ke

{1}y U= TER & uE g T ol @i 1 e 8 1S Fafes
T & FE & us) & R ooeimEnr & W

(2) =% T % @ 4 ¥ oo % e Uew wemn @ wEd)

3 THwritg =ty ofthy o afs wim @i % e g S
A

(@)  arEr eyt w e ey e Ty v o et
¥ it o ol e v
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Consider the following regirding the meaning of allcgation under the

Rajasthan Lokavukts and Up-Lokayakia Act -

{A) It means any affirmation (hat such public servant has abused bis
position as such to obtain, my gain or Bvour himself or any other
person of to cause wndue harm or hardship to other persom.

(B} Any action o failure to take action in performance of duly by a public
gervant for some advantage

() Public servant was actuated in the discharge of kis lunctiens as public
servant by personal intergsl or improper or corrupt motives,

(D} Public servant is guilty of cormuption or fack of integrity in his capacity
as such public servant,

Select the commect answer by using code givem below

{1} (A) and (B} (2) {B) and (C)

(3} {A), (B} and (D) {4y (A), (B), (C) and (D)

T AR U ST Wt % orerhr aTHT F oo ¥ A

g Frefafm ot P @i -

(4 ToR o4 ¥ P ww Tuw 3P0 OWE F%, TE WEmT S 91 =y
T AT F T W A g W@ ANEE JHeE ST 1 5
w14 & fwo o TR oW g fem

(B) wE s B A woen e & Red w & e sedad e
1w A E |

(C) wi% HGE T AT seTeT @ =t Ba d1 e 3 T=ER
¥ hm sy = owel R R

M) % 9% TEMEN O 6E 4TE ¥ w § Prer & o wm ol B

fo W T W OWEM W W wWE @ wEe Ay

(1) (A) i (8) (2) (B} ST (C)

(3) {A), (B) &t () (4)  (A). (B), (C) & (D)

Consider the [ollowing regarding High Couwrt Beach at Faipur ©

(&) The permanent Bench of High Couwrt of Rejesthan was established
in 1977

(B} The order for esmablishment of permanent bench was made by
Governor of Fajasthan

{C) The order was made for establishment of bench under State
Reorzanization Act, 1956,

O Japur bench has nol been given the status of principal bench.

Sclect the correct answer by using code given below :

(1) (A} aed (B) (20 (A) and (C)

(3} (A (€} and (D) {4) (A), (B), (T) and (D)

Ter e wEge de & g § Preiaies R St

(A) TrEEE TR SRR S el Ots #1977 4 w1 R

(B} = die & woA w1 Ry e F U BT R T

(Cy A B T H T T e AT, 1956 & o fea mEm

@ 79X 95 W 7 W ® o= w0 Ewm mm

e T4 g & wilv & W S @ wER A

(1) {A) 4 (B) @ (A) 9 (©)

(3) (A, (C) &l (D) @ (A) (B (C) 9% (D)
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93 Maich List-T with List-11 and sclect cormect answer by using code given
helow :

List - T Tast - I
{Comment aboul Disirict {Given by)
Collectar)
(4&) Compare the District Collector (i) Report of Indian Statutory
with that tortoise on whose Conimissions, 1930

back stood the clephant
of Government of India
(B) District Collector should be  (f) Irime Minisler's sddress miven
a lawyer, an accountamt, a on 200 May 2005
surveyor and a ready
writer of state papers
(C) There is not, and asver (i) Remsay Macdonald
fias been, an official quile
like the Coliecior anvwhono
else
(D) Linchpin of administration  (iv) & K. Dass
Code :
(13 (A, (B0, (CHiv), M}
(21 (A, (B)-(ii), (), (D)
30 (A, (B, (OG0, (DR
(4) (AN, B)-ii) (C)-(v), (D))
-1 W -0 § g e T B A g2 W @l w5 eh e
M e e

T - -
Py % o +=m) (=)

(A} Framllyr 2t gEm oE wET ) e gl e wiske,
o ¥ g o fs ome 1930

9 IR e i me
(By Tommdier &t o afuasm, () 2099 2005 =7 T mar wamms
uE A, T ¥
Fal T T =
d=T des v iy
€ =8 T ow femdw & ) 0 i
e A a sl i
Tom ¥ offiT T A ém
D) wymET B gl (v) & & =

(13 {ANGED, (B, (C)-0v), (D)-()
(23 (AQ). (B(H), (C)-Gi), ([D)Hiv)
(3) (A, (B)Gv), (Ch-(i), (D))
() (A0, (B-(iid), (Ci-(v), (D)-(ii)
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94  Which one of following 13 tot the member of the commilles constituted
for the appointment of the Slale Clief Information Commissioner and Slate
Information Commissioners 7

{1} The Chief Minister of the State whao shall be the chaimperson of the
Committes

(&) A judpe of State High Count to be nomineted by the Governor
(3} The leader of opposition in the State Logislative Aggembly

(4) A Cabinet Minister (o be nominated by the Chief Minister
frefisfee & & S W o5 TV P QU AR U U9 R AR
% Trafm ¥ B oofm wiR = e A E@ R7

(1) g & gEEE = wtfn & giem o R

(2) TR BN OPEGE 99 URWY W O% ST

3 = Tage oo § FreEniew = S

(4) yerdd T SwPEbE o dheedm

95 Consider the following objectives of Rajasthan Industrial aad Trvestment
Promotion Policy-2010

(&) Ta encourage tapid prowth of sectors in which Rajasthan has natoral
or strategc advantapes
(B} To promote rucal industrialization

{C) To achieve optimal development of lwman capital and promote a
kpowledge led growth

(I} Enhance employnient opporlusities [or growise vourh popuistion

Select the correct answer by wiing code given below !

(1) (A) and (B} (2) (A) and (D}

(3} (A (B) and {T) 4y (A), (C) and {12

e el wE FEs Afr 2000 F w & are § Feeffiay o

femmer &ifeg ¢

(A) TEWH % WEfes m fEew wy F T e g § oW & e
% Tr @ Bwm s denis S

my el st = i =

() A Rree & g Ry ® oW S0 UE ge-anmE Rem
F AR

() = et e T T A |

o W = & wEr W Wi SEY W 9ET & -

(1) {A) T (B) 2y (&) o7 (D)

{31 {A), (B) &fiT (C) (4) (A), (C), oT M)
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Consider the following stalements about State Election Commission in
Rajasthan :

(A)  Ti was comstituted in Juby 1994 under the Article 243 k of Constitution
of India.

(B} I is & multimember commission headed by dhe Stute Election
Comnissioner

(C) Tt has @ secretary who is also the State Electoral Officer of the Statc,

(0¥ Tt prepares electroal rofls and conducts elections for Panchayati Raj
Institutions and Municipal hodies,

Select the cormect answer by wsing code wiven below

(1) (A) and (D)

{2} (B} &nd (D)

(3} {A), (C) and (D)

{4)  (A) (B), (C) and (D)

TR & T AR S % ot ¥ Preitee saet g frave if

(A} TR WA Wt H@EeW F agEE 243 k % sewly gend (004
# fegmr

(B) % uf dgmmeiy anam ¥ fawem wym vow Tale emgsm g i

{C) o= uF akd s € o e w o Pats afimnd 9w

(b)) T TAEEE dEns oE e Pt S R e gt e g
WO E oH gTE weEn §i

oW gT § Wi owT wl ee W owa i

(13 (&) afre (D)

2y (B) ot (M)

(3} {A) (C) 8T (D)

(4 (A), (B), () @i (D)

According to Humgn Development Beport, 2013, Todig's rank in human
development index is :

O REE 2y 134
3 136 (4 139
wE T Pl 2003 & sy, aee e aEes U ure gt g b
(1y 133 {2} 134
(3) 136 4 139
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A condition of slow economic growth and relative high unemployment
combined with a persistent rise in genersl price level is termed a4

(1} PRoccssion {2} Core inllalicn

(3) Disinflation 1) Stagflation

e =am e O anities famra o gerens S TR F v 8 g
e W H e ghe AT ¥, @ wE A v

{1y == (2)  arsdery (@) whk

(3) 4y TEEiEtE Gl

Consider the objectives of National Manufacturing Palicy, 2011 and select
correc answer by using code given below :

{A) To increase manufacturdng sector growth to 12-14 percent over the
mesium Lesin.

(B} Tocreate 100 million additional jobs by 2025 in manufacturing sector.

(') To enhance global competitiveness of Indian manufacturing through
appropriate policy support.

(D) To increase manufacturng expotts at the rate of 25 porcent per annutn
during X1 plan period.

Code :
{E) (A}, (B} and (C) (2 {A), (B) and (1))
(33 (A (C) aad (1) 4) (B), {C) and (13)

ey Fafpeier R 2000 & Sgiedt & wer W FE T RER @R g
A o gl W wE m ogw wE S W W wifng

(&) TEER A TEEw odw € gRE T W 12-14 wRew TE SEe
My R dm ¥ 2005 9% W00 faitEe sETEE e R gEe|
() wiEm i d & das shraiers awar & wgias el

ST AET

(D) el Fomars F R a ¥ el w25 whew d s
I F g

E .

(1) (A), (B} 4T () (21 (A), (B) 3 (D)

(3 (A) (€ ol () {4) (B), (C) T (D)
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100 Match the following :

(A)

()

(C

()

Agricaliure Development
Programime

Metional Food Securty (i}
Bdissicn

Fashtriva Erishi Vilcs (i}
Yojana

Matiomal Mission fir {iii)

Sustainable Agriculture
Rainfed Ares Development (iv)
Programme

Code :

(13
(2)
(3}
{4}

(A)-(iit), (BMiv), (C)-(), (D)(ii)
(A, (B}, (C)-(iv), (D)m(i)
(A-(ii). (B)-(ED, (€D, (D)-(iv)
(A, (B)-(iip, (C)1), (D)-(iv)

yifem @i -

(A)

(B}

)
(D}

ﬁf H

(m
)
3
#

26-R_A]

iy e

T Ee g fee ()

T wih frem A ()
gad T #g W feE i)
=0 anane 29 fwm (i)
e

(ARG, (B{Iv), (CHG), (D)
{A)-Qiy, (BMil), (C)-(iv), (D)-(7)
{A)-(3), (B(ii), (C)=(i), (D)fiv}
{(A)-(i), (B)Gi), (O, O)iv)

41

Objective

Focussing on small and marginal

farmers covering integrated farming
in order to enhance [armers' incoms

Tor gnhanee the production of rice,
wheat and pulses.

To enhance public investment in
apriculiumg

To transform Indian sgriculture into
a climate rasitient praduction system

TR
Wy ud dhn FuS w F A

T BT S wwn Ay el
T B AEE

=Ew, g U4 wwl & I9ET W
T

S 7w P w ar
W P W wwErg e

IOET =EE B ORurE s
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Cxamine the following statements and selcot the cotrect answer using the

code piven Below

(A) Suex canal was constructed by an Anglo-French Compary.

(B} Tt was opened for traffic in 1869

{2y I shortens the London-Indian West coast distance to 6100 miles.

(D% The Suse canal directly links West Europe (0 Awvstralian route and
cven easlern coasts of Morth America and Monsoon Asian trading
is also served by (his roote.

Code :

(I} {A) and (B) are correct. (2) {13) and (C) are comost

{3} {A), {C) and (D) are correcl. (4)  (A), (B), (C) and (D) are correct.

P s w1 ofam Shag 9w Y fwome g w1 oTmE =

T HE wet %1 A9 @y -

(A) =w T & P are-w e 20 e T

(B) T oftget % fag 1860 7 wier m |

(©) T v W T ow @ gh 6100 FW o oW H ¥ )

(D) e 787 T g H v w3 g st ¥ ug awd e
% et et o mrrge wfied A & m o g A A g

ﬁnﬂ.’ H
(1) {A) 2T (B) Wét & (2 (/) e (0 | E
(3) (AL Al @mwd E [ (AL ), () AT D) Eh ¥

Match the following and select the eorrect answer using the code given below

MNational Tlighway Numirer Rowte

Ay 3 (1)  Varanasi to Kanvalumac
By 7 (i} Agra to Mombai

(Cy = iiity  Delhi to Lucknow

i 24 {iv] Delhi to Mumbai

Code :

(1) G-, @), (OHE), DHGv)
(2)  (A)-Gi), (B (CHGv), (D)
(3) (AN, (BRG), (CH(), (DHiv)
() (AMGEY), (BMi, (C)-(n), ([D)-0)
Pl =1 gifm @it ot A faw 1w g owwEm W g

gar e -

i urE HE oy

(&) 3 =t ¥ F=EOTd
= 7 (if) amro o geEs

) 8 (iily Beell 4§ wEES

my 24 vy Ten ¥ g

ﬁa £

(13 (i), (B, (C)-{i), (D)-(iv)
2y EAY-(u), (B0, (C)-Gv), (D)(in)
(3 (A)-iD), (B)-(E), (€30, (DHiv}
() (ARG, (B, (C)-(i), (D))
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103 The following mup shows the location of coat-Felds in Tharkhand as (1), (i), (i)
and (iv). [dentify and answer the correct sequence as given below the e,

(I} Deltenganj, Morth Karanpur, Bokaro, Tharia
{2} Morth Karanpur, Daltengani, Tharia, Bokarg
(3} Jhara, Bokaro, North Karanpur, Daltengan
(4)  Bokaro, Jharis, Daltengani, North Karanpur
et srrams & orefem & s & & Ry ), i G o o) 8
walste 1 w | oA & AN R o w5 vmaPn @ e A |

(N =wors, sl SE, dwer, whe
(2) vl s, swewle, wien, @E,
(3 wtem, e, ol sy swete
(4 e, #w, sweTw, SEE HvOe
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104 Match the following and select the cotrect answer using the code given

brdow !

Iron-Ore deposit State
{&) Meyurbhan i) Karnataka
(B) Kodermukh deposits (i} (Orissa
(C) Bailadila (i) Tharkhand
(D} Bonai range (v} Chhattizgarh
Cade :

(1) (A, (BpGv), (C)E) (-0

(Z)  (A)v), (B)Gii). (C)-(0) (D)-(i)

(3) (AR, B0, (CHv), (D)D)

(4)  (A)G), (Bi-G, (Ch-i), (D)-Gv)

Ppefafian = gife #ife ot B Be oo ge W oeEm SW EG
TOY St

Ae— T T wa
(&) FTee (iy s
(B) F=TiE TAN (#) ==
(C) el (ili) wrrETE

) e A (iv) =T
? H

(1) (AN, (B)-(v], (Cy-(m), ({1

(21 (A, (B, (C-G), (DA

(3 (AW, -G, (C)-ivd, (D)

(4 (A=), (B)=(iy, (C)-id, (D-(iv)

108 Which group of the following is the correct sequence of the mountain peaks
of Rajasthan in descending order according (o their heights 7

{13 Taragark, Roja Bhalar, Kho and Bairath

(2} JAoja Bhakar, Bairath, Khe and Taragarh

(3) Eho, Taragarh, Roja Bhakar and Bairath

{4} Kho, Raja Dhakar, Bairath and Taragsrh

Breffias % & 99 W g TEER @ T g & el SR R
AT ol wY A W oA B 7

(1) v, T ogeE, WA gOe

{7y T, 4Ts, § A anrE

(3) I, WFE, UA-"ET i a4

(4 T, Fe-wmt, duz el A
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106 Which of the following two districts are having highest [oresl ares in

Rajasthan ?
(1) Tldaipur snd Barsn 12} Thngzrpur 2nd Banswary
€3) Sirchi and Udaipur {4) Banzwara and Pralapgach
T Y Preffar o § - @ e oweifee w odm oww ¥ ¢
f1) wemgy offT =i (2) T T "l
(33 Tl sim wmag (M) =igEE At TEwTE
107 Match the following hss
List - 1 List = 11
{A) Rajpura - Dariba {1} Copper
(B} Mathra-Ki-Pal (i) Lead and Zinc
(C) Kho - Danba (iii) Beryllium
(I Bandar - Sindac {iv] Tron ore
Select your comect amswer using the codes given helow |
Code :

(1) (A0, (BHG), (C)iv), (D))
(2) (A, (B (C)-(0), (DI
(3)  (A)GiD), (B)-(iv), (C)-Gi), (D)0
(4) (ARG, (BG, (Criv), (D)-()
oo qftet =1 gafmm &R

gl - 1 - 10
{A) TrEgT-ZmE (i)
(B} TE-a—amw (i) W U
(€} =E—=dm (iiiy Py
(D) wE-wiE {iv) #% o
AM @ ™ wm W oTm wwogw 9E e ® wE s -

B

(1) (apiy, (B). (C)-v), (D))
(23 (i), (BHiv) (C)-), (M)
(33 (A»GE), (B)-Gv), (C)-G), (D))
4y (Ax(ak (B, (C)(v), (D))

108 In Rajasthan, which of the (ollowing groups of distcts having less than
100 population densily in 20017 7
{1} Bikaner, Churu and JTalore 2} Jaizalmer, Bikaner and Barmer
(3} Jaisalmer, Chury anrd Barmer (4) Barmer Jodhpur and Jatsalmer
TEeA H Prefaigs e agEl # w2000 § 100 F w0 weEEEm
e TEE F 7
(1} HveriT, TE W T mie 2y TwEdy, 9AT o e
(3) gy, gF e arer (4) =Y, Wt eft Hwe
26-R_A| 45 [Comid...




109 Nasch List-1 with 1.5-1T aisd sedect the correct answer using the code given below

List - T {Industry) List - II {Location}
(A} Hindustan Machine Tools (i} Gadepan
(B) White Cement (i) Jaipur
() Fertilizer {i#y  Ajmer
M)  Eloelric Meires {iv] Gotan
Code :

(1) (A)Gi), (Biv), (C)-Gii), (D)-G)

() (A)(ii), (B, (CHGD), (D)iv)

(3) (A0, (B)-Gii), (C)(iv), (D))

@) (AM), BME), (O} (W

-1 Byl 1 @ ghivw B T A R 5 g B weRmE @ W
S :

- L {ﬂﬁmr:l} T - 1L ()
(A) Tesmm AdF 7w @) I
(B) Whe ®H= {ii)
(©) wdm (it}
() TEgE L {iv} e

CT e
(1) (AMi), (B)-v), (O, (IN-(3)
(2) (ARG, (B)-G), (C-i), (D)(iv)
G} (A0, (BRI, (C)-Giv), (D))
{4y (A, (B)-Gv), (C)-(D, (D)-1)
110 ©Omn an outline map of Rajasthan 1, 2, 3 and 4 depicts the localion of four
imigation projects, which ane is not correctly shown on the map ?

(1) Mahi-Bajaj Sugar (2} Chambal

(3) Bisalpur (4)  Siddhmukh

TR % T WA T 1, 2, 3 4 4 s fhiee i & fefy =
Wi 6 ¥ i ¥ 39 U %) W Wm0 S o 7

(1) vHE-TeE W (2) =

(3)  Hege (4) Prage
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1L Which oge of the following is not a Sanctuery in Rajasthan 7

{1} Phoohvadi - Ki - Nal {2} Tadgarh - Baveli
{3) Sundamata (4)  Keladevi
Firfifem & ¥ & W uF oy e § o E 7
(1) el @ AW (2) TwEwE — TEA
(3) v (4) R

112 Where Rajasthan State Chemical Works' industey is located 7

(1) Lunkaransar {2}  Sasnbhar
{3} Pachpadra {4} Deedwnang
TN W st g @ we Rem ¥ o7
(1) o 2) @i

(3) eI {4y deEE

113 Assertion {A)  Aravalli mountain range is 8 water dividor in Rajasthan.
Reason (R) ; Thesertification is restricted by the Aravalli moustain ranges.
Select your answer using the following codes .

{1y  Both (A) and (&) are troe and (R} is the cormect explanation of (A).
(2} Both {A) and (R} are true but (R} is not a correct explanation of (A),
(33 (A) s trus, (R) i falsc

{4 (A) is false, (R) is true

FA (A} et vl Sew weem ¥ uw ww-fwes o

T (R) ¢ STER OOW e TeereTe &) At s ko
Frefie @ & T @ FY T W owew B -

(1) (A) 3T (R) =41 =80 & 991 (R), (A) @1 ¥H SOimom § |
2)  (AY o (R 3T wd R e (R, (A 1 owEY vl adt B
(3) {(A)wa B (R) TE B |

(4) (&) TR E, (R) WY
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116

Consider the following sbatements
(i} Tn Rajasthan rainfell decreases Tom South and South-East to North
and Morth-West,

{ii) Ambian Sci branch of Monsoon is the main source of rainfall in
Eajasthan.

{iil) Western Rajasthan received rainfall only during winter seasot.

{ivy More than 50 percent Rajasthan is having And and Senu-Arid climate.

Which of the stalemsenis given above 13 / are commect ?

(1) () and Gi) @ (0 Gy and (i)

@) (), (i) and {wv) @ (i) and Gv)

el waer o0 R @

iy e ¥ sl giw sy sfamgd & T o woeuiew § oo
1o A

(i} ®WEgT & = @i eE TWeEN § 99 & T Ew o

(it} tiedl Tome Fue oig wW 0 T WTE A ¥ |

(iv) TR w50 wihse wer geR wd el gy g w0 R

ITE FEA T ACT-WF W E(E P

(1) () # i) (2) (i), (i) @t (i)

3 M @) & 6w (4) i) ST (iv)

Among the following, whe was nol a member of the Drafting Conunittes
af the Constituent Assembly ?

(13 N Madhav Rao {2} D. P Khetan

(3)  Maokammad Sadullah {40 B N Rao

Prifieer O =9 dfgum wm & TEY 9 & e W o3 7
(1) Oq. =g T {2y & § dune

{(3) #EE AEE {4} . wa. g

Arrange the sequence in which terms related to Liberty' appear in the
Preamble of the Constitution; Liberty of ...

(1) belief, thought, expressicn, worship and faith

(2) thought, expression. belicf, faith snd worship

(3) worship, faith, belicf, thought and expression

) thought, belief fath, worship and exprassion

o & =R ¥ wE ¥ TReE e % o wEea o
(1) TFagEw, faw, o, TamEe ot W =) e

(2) Fm, sl fegm, = dR samm & =0

(3) =urEn, ud, Tarm, e st i s wmdaE

{4} T, Feam, v, oo st afeie W e
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Consider the following statements :

(i) Principle of Harmonious constriction has been adopted to give effect
to both Fundamentsl Rights and Direclive Principles of Stae Policy
as much g3 possible,

{(iiy In Minerva Mills Case, 1980 the Supreme Courl has vstablished the
preference ol Directive Frinciples mentioned in Article 39(b) and (¢
over the Fundamental Rights mentioned in Article 4 and 19

Satect the cormoct code -

(1) Only (i} s s, 2y Only i) s tuc

{3} Doth (1) and (ii) are tras {4} Both (i) and (i) are Flsc,

TFrith wuEt ur frew ST

() W efywd o -l 5 PRve aE S suess e e
% g gt @ fasim e T oo

{iiy 1980 % Pl Frg e H Jewow wouwd § aEt 14 ud 19 F
hafed qw aftmrl 07 epE 30 (@) @ (1) ¥ Ew e
Wi % FRow o W wiem gt @5 OF

ol w1 W e oWt o

(I} &= () 5= | (2} %Ewm () 99 T

(3 (0 ud (i) 99 @ ¥ @ (i) 957 e )

Maich the following lists -

List - X (Presidents of India) List - ¥ (Electoral description}
fA) Rajendra Prosad (i) Elgeted Un-ppposcd

(1)  Fakic Hussain (1} Counting of Second preference
Cy V. v Giri (i) Elected [or (wo terms

¥ Meelam Sanjeev Reddy (iv) Ided in office

Code :

(1) (A}, (B)-ivd, (C)G), (D))
(2} tAME, (B)-Gir), (Ch-iv), (D)-Gi)
() (AMiy, (B)-Gi), (Cp(D, (D)-Gv)
(@) CAME, (B)-(i), (Ch(iv), (D)-(D)
e qioat = g #ifg -

T - X (TR F ) W - ¥ (g R

(A} TErE T iy P PaEfw

{By =eT ZE (i} fidg i #t ageEn
€y & S Py (ify = wefwmt % fo Fethm
My TP dofre B : {iv) wEmwm % dH g
ﬁ:

(1) (A(iiy, (B)-(ivy, {C)ii), (D0-(5)
{2} (AMI) (B)-Git), (Ch-{iv), (D))
(3) (A}, (BY-Gi), (C)(i), (D)-(iv)
(4 (A, (B)-(ui), (C)-(iw) (D))
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1240

In the 15 Lok Sabha, between the twe nominaied members from Anglo
Indian Community, one is from Kerala, and anotber is from -

(1) Mizoprams 2y Guoa

{3} Chhattisgarh 4y Manipur

|59 wme ¥, ATE TG WEW H S e aed ¥ O uE s
¥ ot oamm ¥

(1) fimios #® {2y AT

3) =dETE @ () =t &

Consider the following staterments reparding Punchhi Commission :

(i) The Commission has proposed localising Emergency provisions
under Article 355 and 356,

(i} Governor's 5 years tenure shoulf be fxed

{iil} Governer's removal shonld be only by Parliament.

{ivi Appointment of the Governor should be entrusted to a commiliee
comprising the Prime Minister, Leader of the opposition in Lok Sabhba
and Chicf Minister of the concerned State

Identify the cormect statereenlls using the codes given below :

(1) Al the (i), {f). (i) and (iv)

2y (i) and (iv) orly

(3) (), (i) amd (iv) only

(4 (@) and () only

qEr W W el Feie w0 frew i

(i) ST ¥ ST 355 UH 356 § #IM IUEH] % i SwEE
o= owEE B ¥

iy Tegom ® 5 20 & TEElE Wl s 6 A

(i) VPO @ UESg dEw WEE AR #l W)

{iv) e, e § Rrem ¥ o o weElbe e b e & R
um AT # e W Mafe dfa e

freifes £ & wh = I wE ma o® ghi e
(1} 4, (i), (i) od v) &l

(2) FEw () and (iv)

(@) = (@, @) = W)

@ %= 6T G
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26-R_A]

"A Survey Work of Anciemt sites along the lost Saraswati tiver is the
waork of -

(1} M. R Mughal (2)  Aurel Stein

(3} Herman Goetz {4y ¥ K. Mizhra

Yo oW T o TANTT wEww ami @ i Tt REr feem
W e ?

() m, O g {2y otw &9
(3) T g (4) S owA P
Damna is an ormnament worn in -

(1) Finger (2) Hand

(3) Ear (4)  Mose

UL (e e 1

(13 e 2y wim

(3} =F 4 ==

Which one of the following was included in the "World Heritage List' by
UNESCO in 2040 ALy 7

(1) Keoladeo Mational Park (2 Ranthumbor For

(3) Kumhbhalgarh (4) Jantar-Mantar, Jaipur
Frafife 4 @ fed ool 2o 2010 4 F faw Fme g § ofRE
T T 7

{1) wamae oy S (Z) e R
(Y) TS (4 oI, AT
Which of the following pairs is correctly matched 7
(1) Khartal - Aerophonic {Z} Rabah - Chordaphaonic
(3) Bankiva - Autophonic {4} Ders - Acrophonic
Preafufes % & o wm oqm w ¥ ¢
() @Weuw - gt 9™ () WA - ag "W
(3) aiem — oA (4 ¥ - gim aw
The fullowing Festivals ure cclebrated in Rajasthan at different limes -
(A} Chhoti Teej (B} Akha Tee
{C)  Gangaur M) Kajli (Badi} Tee
Their chromological order according to calendar year iz -
(G (B) (A), (D) (2  (B), {A), (C). (D}
31 (B). (C). (&), (V) 4y (C), (A), (D), (B)
T Y i o Prefdhes wfew o o ¥ -
(A} =8 ds (B} = b=
(C) TRty (D) wowr (=3
¥esT A F OO el R ¥ -
(i} (€ (B}, (A), (D) 2) (B (A) (C) (D)
3}y B) (Ch, {A), (D) 4y (G (A (M), (B)
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The coin of which princely state of Rajpurana had the fice of Queen Victora
and “Wictoris Empress’ written in English on one side and the name of
Mahargjs written in Magarl and Urdu on the other side -

(1) Joulhparr 2y Jaipur

(3) Dikaner (4] Udaipur

T fem fawm & T W oo s el faRifon @ ew
e sk ¥ P wAE fee B W et e ei Al e
=2 Tafy o weroenm @ AW oo #Rm oA 7

(1) =g () O

{3y T (4 Sy

In which princeby state of Rajputana Azed Morche was established 7
(1) Jodlhpar {2y Jaipur

(3 Kota (4 Bikaner

v 1 ey e  amE W @ A g f

(1) =g {2y g

(3} {4y dmmT

March List - | and List - T and select the gormect answer by using the
cnles given below the lsts -

List - I List - H
{A) Dwarkadhessh (it FEota
{B) Srinathii iy Mathdwara
{C} Mathuradheesh (iif) - Taipur
Iy Govind Dewji {iv) Kankrol
Cade :

(1) {aMiv), (B)-(), (C)-), (DG}

(2 (ARG, (Bi(i), (Ch-Gii), (D)-H)

{3y (AN, (B, (C)-() (D-ivi

fdy (A, (@I (O, (D))

wh = 1 efy - 0w gitem Sifvd ot 9= i @ @t e
i ol wey w1 wad e

oo~ 1 wH - 1
(A ErETE O
(B} et (i) AmEm
(C)  TTE {iti) =T
(D} T e (iv) Wi
m «

(D (), (B, (C)-(), (D)-(i)
(23 (Akv), (BHD, (C)-il), (D}L)
(3) (A, B, (CH) (D)-{v)
(4 (AR, B0, (CHivy (D))
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13% The following princely states of Rajputana signed treaty with East India
Company ia 1817-1818 A D, -

fA} Kota (B} Jodkpur

(C)  Karauli (L} Udaipur

Which sequence given below is eomect chronologically #
(1) (&), (B), (€}, (D

{2) {C), (D). (A}, (B}

(3) (M. (A), (B), (C)

{4} (Ch €A), (B}, (D)

AT wF Prefaies foomsr 4 18170818 4 F 3 sheqr wwd &
LR I R o ol

(A} @ {B} Sragy

(C) wiwt ) e
Frefutigs ¥ & F-m orgen, ST T8 ¥ 7
(1) {A), (B), (C), (D)

(2} (Ch (D), (A), (B)

3} (D). (A), (B), (C)

) (€ (A) (B), (D)

130 Which one of the following statements is not corsect 7
(1) The Khalsa land was directly under e contral of mler,

(2} The jagir landy were held in hereditary possession by the jagirdars
or lhikarcdar,

(3} The Bhomias were given land in liew of performing watch and ward
duties in a villase and guarding roads.

{4} The chamnota Jand was under the control of ruler

fofelies & & ®9 @ =aw wh W & 7

(1) mwerar g TR0 % P # g o4

(@ it gfi v e @ feweEr @ Ygw B g o

(3) wifEl ® 3o At g defard @ dwelf @n Al g &
wael W T w W O d w4

4wl gf 97 o & Besw B @
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133

134

Which of the following statements are corregl about Harappan Seals 7
(i) Most of the seals are square in shape,

{ii} Mosl of the seals are made up of sceatite,

(1) Some seals have only writing, but no metil.

Choose the correct answer |

(1} i) and {ii) (2) (i) and i)
(3) (i) and (iii) (4) (i), {ii} and (i)

ffifas § & 9% = ew ded T g F W ¥ 7
() wfagia oet Wl o 4mET

(iiy ofswiy At Yol A oo ¥ )

(i) Fo FET v YA ww ¥, Ty owghd W F
Hqir TAT W owde FifEg

(0 () @ i) () @) &t (i)

(3) iy AT i) (4) (i), i) of Gil)
Which of the fullowing is not a component of Vedangas 7
(1) Shiksha (2) Vyaakarana

{3y Chhanda (4% Alankaar
Frafifan % & #4 @ 9E07 @ gen Wl F 7

(1) i (2) =T

EIN: (4] wEEE

The language which hes oot been used in Ashoken inscription, is

(1) Prakrit 2y  Arabic

{3y Giresk (4) TRoman

e e wam i % ofwrt 9 Bpmowar ¥, 9w %
(1) weEd (2) oridns

(3) (4) o

Which one of the following inseriptions indicates the influence of Vasudeva
culi on Indo-Cresks ?

(1)  Besmagar Pillar Lnscription  (2)  Sw Vihar Inscription

(3) Rabtak lnscription {4} Junagarh Tnseription

P & & @9 W aTwe e T ARET W % T a
wifm wor & 7

(1} T wEG e % uf P s

{3} THEEEm wfen (4) e i
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135 In gncient India the head of the guild {shreniy was known as

(1) Adhipai ) letthaka
{37 Agrapati {4)  Vanik
yrdt aa ¥ it qfem e o -

(1) afefy (2) g
{3y iy 4y afes

136 Consider the following statements about Rafendm 1
(i) He sent a successfil military expedition in Gangeric Villey,
(i) He built g new eapital at Crngaikonda Cholapurum,
(i} He defeated Makendra V. the king of Sri Lanka.
{iv] He despatched a mission of merchants ko China.
Which of the sbove statementz are e 7
(1) (i), (i) and Gv) (2) {0). G and (iv)
30 (i (i) and i) (4} Al of the above
TR F oAt F Pefifes s wr Rem @i
) = ow A oud ¥ o owww W alraE dSer
(i) =8 TEmes dWee ¥ o v e e Bmim fEe |
(i) wor fteber & W abw Vo wofee fem oo
(v) o =il % uw =m o5 99 e
R W o #-d wew owh E ¢
(1) ), (@) & () (2) (i), (i) & (iv)
@) ), (@) o G (4) wodHE ad

137 In sultanate period 'Sondhar was
(1) A cess on fand revenue
2} A tax levied um canal waler
3} A special tax levied in Ganpelic Doab
(4} A loan given to peasants for the agriculture development
e e HOEEaT a7 -
() 979 W 9% 9ET
(2) O W9 U W T e
(3} Tim % =tem o e Tn e w
(4) s fawm & T Beael w1 B = 3en =W

138 The subject matter of medieval work Man Kauthuhal s -
(1} Bengal expedition of Raja Mansingh of Amber
{2} The collection of Ragas of industani classical singing
(3)  Amusement activities of Bani Mankarnwar of Magaur
41 Literary pussles
TEEHIT W WA Fgew @ faww 9w b
Ly #fT % e gmfie & 9 el
(2) T sl wew & At @ dEea
(3 TR W ol AR ¥ wEE
(4 wifers wkft
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Which amongst the following buildings are the part of Impedal Haram
Sara section of Fatehpur Sikil 7

(i} Jodha Bai's Palace (ii} Panch Mahal

i} Marram's House {iv} Birbalz House

Choose the cormect pplion :

(13 Oaly (i) and (i} (2} Only () and (v)

(3)  Only {i (i) and () {4} Al of the abowe
P § ¥ EF-8 T TR R Hd F wy w0 ws W R ¥
() wuEE W AW (i) 99 =W

(i} WhEEH T 97 (v) witee =1 8¢

o8 Fammy W = Hifag -

(1) e (i) & i (2} Ew (i) ST ()

(3) W (), (i) T i) (4) o W

Match List - 1 with List « I and choose your answer from the code
given below
Lisi - T List - TT
(A} Mumd (i) Devationyl poetry dedicated to Vithoba
(B) Murshid (iiy Sufi disciplc
(C) Abhanga (i) Sufi teacher/guide
(L Pughu {iv) Grace of God
Caode :

{1y (AR, (B, (Ch-ov). (D=0
(2} (AX-G) (B)-G), (C-0), DMV}
(37 (A)Gily, (B, (C)-(), (D)
(4 (AGE, (B (C)-), (1)
o - [ 5 g — U F am gelm SitAe v Ry o ogd ¥ ¥ owd

WL W A S

T -1 T — 1
(Ay TE tiy fasmn # wflE wfs s
(B) ufiE Gy gE e
(C) & (i) g ys | TT TEiE
D) gf= {iv) FvET = argEw
s

(1} (AM(iD), (B)-Gid, {C)-Giv), (D)-()
(2) (A, (B)Gi) (C-D, DHv)
(3) (A, BH), (-, DHD
@) (ARG, (B, (CHD), (D)
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141 Read the statements fA) and (B) and choose the correet answer from the

142

codes given below

(A) Policy of free trade was introduced from the Charter A¢t of 1813,

(B) From 1813 onwards \he coonomic policies of Tadia were delermined
by the interesls of the industrial bourgevisie class of England.

Code :

(1) Both (A) and (B) are fase.

{2} Both (A} and (B) are true.

(33 (A) is true, while () is false.

4y (A} 15 falee, while (B) is Lo

mﬁ%lﬁﬁm(maﬁm}aﬁﬁaﬂwﬁr&ﬁqw@'ﬁﬁﬁﬂﬁt

W OEE wL

(A} 1813 & =T UR & ¥ =W # AE F g fm o |

(B) 1813 § Wit aft it At givs % ol g 24 & e
T P w= @l &

FE :

(1 (A)wd () 99 & e B

(2} (A) W (BY S9F & =@ E

(3} (M) e ¥ s (B) T OB

(4) (A)E ¥, w=Es (B) @8 ¥ |

Ciandhiji sent an eleven points demand note to Lord Irwin before starting

the Civil Disobodierce Movement.

Which of the Gllowing wasfwere mot included in it ¢

{A) Filty percent reduction in fand revenue and abuolition of the sult tax

B) Lowerng of the rupee-sterling exchange rale

(C) Fifty percent cut in military expenditore and expenditure on civil
adininisiration

() Amnesty {o Bhagat Singh snd Batukeshwar Dhura

Choose the comect option -

{1y (2} (A) end (C)

31 (B) {4} (A} and (D)

T ofam AEwT 96 &0 § e s T @ e w0 T

AL W T e |

frivfigs & & #w—d@ o) =i wF wieke w6 ¢

{8) == ¥ Tow TRAT & w4t & e wr e sl

B) TR o Rl = w s

() &9 oy TliE venew & =% ¥ maw whew & w9

(D) wEHE w8 wZHwET IW S W

i e Thm
{1 (M 2y (A) T (O)
(3 M {4} (A} wE (D)
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143 Maich List - I with List - K and selest the eorrect snswer using the code

given helow
Tdst - I List - 1T
{Highest Teak) {Conotry)
(A} Kilimanjaro ) Argenting
B M Cook (i) United Siates of America
(C) Mt Meckinley (iii) New Zealand
(D) Aconcagui {ivd Taneania
Code

(1) (AL (B, (C)-Gv), (D))

(2 {A-(w), (B)-Gii), {C)-(i), (D30

(3 Ay, (B)}Gv), (C-(i) (D)}

(4 {A)(), (BMI), (C)iii) (D)-{iv)

T - 1B T - U F g dif o A R o g o ew
wo go owmy difeg

w1 TH - I
{aegery fimer) {a)
(A} FEferdET I i
(B) wre= I iy wgE T sl
(C) = B (i) =TS
(D) T (iv) EEIE

&=t

(1} (ARG, (B)i), (C)-0v), (D))
(2)  (AM), (B)Gi), (C)-(ii), (D))
(3) (A, (B}Gv), (C)-(3), (D}
4y (AN, (B, (T, (D))

144 The correct sequence in descending order of the rice producing states
seoording to percentage of total rice production of the country is

{1} West Bengal, Andhra Pradesh, Uttar Pradesh snd Punjab

(2) Andhra Pradesh, Wost Dengal, Punjab and Utter Pradesh

(3)  Uttar Pradesh, Punjsb, Andhra Pradesh and Wesl Bengal

(4)  Punjab, Utter Pradesh, West Bengal snd Andhra Pradesh

Igr & g O SEEA % AHOE & AgET T e o A e
ERi i i

(1) fyedt W, SR WRYT, SOT WEW UH TWE

() A wEy, ofiE WM, deE w9 R

(3) T wRy, TwE, AR WSH UF uikew |

(4) TEW, IO TEE, Wi wE ud e g
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145 Maich the following and sefec! the correct answer using the code piven below -
Iron and Steel Plant Technical co-operation
{A) Bhilai [ron and Stee] Plant (i) Germany
(B)  Rourkela lron and Steel Plant (i) South Kurea
{C) Duwrgapur Tron and Steel Plant (i) Russia
{D} Pasco Stecl, Paradwip {v) United Kingdom

(1) {A){), B)-Gii), (C)-i), (D)-(iv)

2y (A}, (BHiV), (CHiD, (D))

(3 (AN}, (B)-(i), (©)-(Iv), (T)-(i)

(4] (AMIv), (BIEH). (CHi), (D))
ﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁﬁﬁﬁqaﬂ?%ﬁqﬂqﬁmrmﬁa%ﬁgq
oy difem

L AR HEA

(A) THEE W uE e S () ol

(By ®dar ww ui g s (i) aflel wif
€} g W% v g S {iil) =&

(D) TSR T, e (iv) T fémew
ﬁi H

() (AML, (B)(), (€ (D))

2) (AR, (B)-(tv), (CH(iD), (D)

(3 (A, BRI (CHW), (D)

) (ApGv, (BM(H), (C-), (D))

146 Assertion (A) ¢ Coniferons forest is found in both the hemispheres belween
AT latitudes.

Reason (R) : Anoual rainfal! varies between 3050 gm and 39
isotherm demarcates its northern limit whils 10°C (summer)
delimits its southers limit

Which oee of the following is the comest choice ?

(1} (A} is correct und (R) is also correct,

{2} {A} is correst but (R) is wrong

(3) (A) is wrong but (R) is correct.

{4} (A} and (R), both are WICTIE.

T (A} - wwET w A el s00.700 st % S unt

|

B (R : A wE 30-50 AT & g 9 ¥ vd Se0 = a

T wEE e g Piie s § Fuis il @
frfver 10°C & 80 %

frefifia 4 & sW—g o8 T & 7

(1 (A @ F oy (R) 9wl & )

(2) (A) =8 § afm ®) wew &

(3) (&) ™ T EET R W OT

(4 W ®AF Ao
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147 Match List - T with List - 11 and select the somest answer by using the
code piven below -

List - 1 List - 1L
{National Park) (State)
(A} Van Viher (iy  Thtarakhand
My Valley of Flowers (ii) Madhya Pradesh
{C) Mannar {7y Chhattishgarh
(D) Kanges (iv) Tamil Nadu

Cole :

(1) (A, (B)-(ii), (O, (D)-(D)
(2) (A, (B)-(v), (C)-(E), (L3-G)
(3) (A, (B)-i), (O, (D-iv)
() (A, (8)-() (C)-(h), (D)-Gil)

wh - 1w - 1 E g #f o S R g g o T
FIH ET wE Aem

wh -1 i R |

{refr e ()
(A) =7 RER ) TouETE
(B} wwl P TR (i) 9= A
€ & {iil) EETE
(D) FRTT (iv) TS

(1) (ARG, (B)-(D), (CHD, (D))
(2 (AL, (B)-rv), (C)-(ii), (D))
(33 (A (B, (OH), (DH)

) (AR, B0, (C)-(ivd, (D))
26-R_A] 60 [Contd...



148 The following map shows the Jocation of oil refinesics in Tndia as fi, (i,
(i} and (iv). Identifir and answer the somect sequence as given below map.

(1) Deogarh, Jagadishpur, Nellor, Koyali

(2)  Jagadishpur, Kovali, Deogarh, Nellor

(3) Koyl Deogarh, Nellor, Jagadishpur

{4) Melior, Kovali, Jagadishpur, Deogarh

TrTtfhe s % AR & AW st g w Rty G, (i), (i) ot (hv) &
PLEC R R el | ST & A P g n @ o neePRE T S

-

(1) =999, TRIT, 7%, S (2) RIS, S, S, I
(3)  llt, d=me, Awwr, wdleT (4) e s, A, Herny
26-R_A] il [Conrd...




149 Malch the following and select the comect answur using the code

given below
(rheat
(A} Bhor Chat

{B) Goran Ghat

Juying
(i) Udaipur - Sirphi - Jalore

(i)  Mumbai with Puoe

{0y Pal Ghat (iii) Masik with Mumbai
{Dy Thal Ghar (iv) Coimbatore with Kochi
Code :
(Y Ay, (B)GE), (C)-(D, (D))
(2)  (A)GEy, (BMi), (CHiv), (DHD)
3} (M), (B0, (C)-iv), (D)-(iD)
(4) (A, (BI-GEE), (O}, (D)0v)
Frfafas = gifim $ifm ot 4@ fr W e @S9l @ 3
Ty & -
Ty Pt ¥
(A)y ST =z () wage — faeEh - s
(B) o e (i) F= § 9
(C) =m = (i) iw & g=d
D) == == (iv) HEEZT ¥
oL
(0 (A, (B)-G), (O, (-
(D (AGE), (B, (C)-gv), D)
(3} (M-I}, (B, (CHiv) D))
(€ (AR, B)-CiD), {C)-(w), ([)-0v)

26-R_Al
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150 The following map shown the legation of industrial regions in Japan g=
(0, (i), (i) and qv). Tdentify and answer the correct sequence as given
below the anap.

{1} ‘Tokyo - Yoloham, Magoya, Oszko - Kobe - Kxvoto,
Kitaloushu - Nagasaki
(2) ‘lokyo - Yokohama, Osaka - Kobe - Eyoto, Nasove,
Kitakyushon - Napgasal
(3)  Nugova, Osakn - Kobe - Kyoto, Kitakyushy - Nagasaki,
Tokyo - Yokohama
4)  Kitakyushu - Magusaki, Tokyo - Yokohama, Nagoya,
Oszaka - Kobe - Kyoto
Prife e % it A ofwiies vi &) Rafy (1), (i), (i) & (o) &
T |Hﬁﬁﬂﬂi=ﬁﬁﬁqwmﬁﬁﬂwﬁqﬁmaﬁ?ﬁﬁm

(1) m-w,m,fﬁmm-ﬁ—ﬂﬂ&,?ﬁrmm—w
) M—ﬂﬁﬂm,aﬁm—ﬁ—aﬂﬁ.m,ﬁﬁﬁqﬁ—m
(3) e, s w - e, e e i i o e
(4) TrarEgs ETR, A - SRR, T, S - S - wie
R Al 63 [Contd..
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